

## PARTITIONS WITH AN ARBITRARY NUMBER OF SPECIFIED DISTANCES

BERNARD L. S. LIN

(Received 19 March 2019; accepted 23 April 2019; first published online 3 June 2019)

### Abstract

For positive integers  $t_1, \dots, t_k$ , let  $\tilde{p}(n, t_1, t_2, \dots, t_k)$  (respectively  $p(n, t_1, t_2, \dots, t_k)$ ) be the number of partitions of  $n$  such that, if  $m$  is the smallest part, then each of  $m + t_1, m + t_1 + t_2, \dots, m + t_1 + t_2 + \dots + t_{k-1}$  appears as a part and the largest part is at most (respectively equal to)  $m + t_1 + t_2 + \dots + t_k$ . Andrews *et al.* [‘Partitions with fixed differences between largest and smallest parts’, *Proc. Amer. Math. Soc.* **143** (2015), 4283–4289] found an explicit formula for the generating function of  $p(n, t_1, t_2, \dots, t_k)$ . We establish a  $q$ -series identity from which the formulae for the generating functions of  $\tilde{p}(n, t_1, t_2, \dots, t_k)$  and  $p(n, t_1, t_2, \dots, t_k)$  can be obtained.

2010 *Mathematics subject classification*: primary 11P84; secondary 05A17.

*Keywords and phrases*: partition, difference between largest and smallest parts,  $q$ -binomial theorem.

### 1. Introduction

A partition of a positive integer  $n$  is a weakly decreasing sequence of positive integers whose sum is  $n$ . Let  $p(n, t)$  be the number of partitions of  $n$  with difference  $t$  between its largest and smallest parts. Andrews *et al.* [2] established the following formula for the generating function of  $p(n, t)$  for  $t > 1$ :

$$\sum_{n=1}^{\infty} p(n, t)q^n = \frac{q^{t-1}(1-q)}{(1-q^t)(1-q^{t-1})} - \frac{q^{t-1}(1-q)}{(1-q^t)(1-q^{t-1})(q; q)_t} + \frac{q^t}{(1-q^{t-1})(q; q)_t}. \quad (1.1)$$

Here and in the rest of paper, we will adopt the usual  $q$ -series notation:

$$\begin{aligned} (a; q)_0 &= 1, \\ (a; q)_n &= \prod_{k=1}^n (1 - aq^{k-1}), \quad n \in \mathbb{N}, \\ (a; q)_\infty &= \prod_{k=1}^{\infty} (1 - aq^{k-1}). \end{aligned}$$

This work was supported by the National Natural Science Foundation of China (No. 11871246), the Natural Science Foundation of Fujian Province of China (No. 2019J01328) and the Program for New Century Excellent Talents in Fujian Province University (No. B17160).

© 2019 Australian Mathematical Publishing Association Inc.

In [2], Andrews *et al.* also generalised (1.1) by considering partitions with specified distances. Define  $p(n, t_1, t_2, \dots, t_k)$  to be the number of partitions of  $n$  such that, if  $m$  is the smallest part, then each of  $m + t_1, m + t_1 + t_2, \dots, m + t_1 + t_2 + \dots + t_{k-1}$  appears as a part and the largest part is  $m + t_1 + t_2 + \dots + t_k$ , where  $t_i \geq 1$  for  $1 \leq i \leq k$ . Let  $P_{t_1, t_2, \dots, t_k}(q)$  denote the generating function of  $p(n, t_1, t_2, \dots, t_k)$ . Andrews *et al.* proved the following theorem by using Heine’s transformation.

**THEOREM 1.1 (Andrews *et al.* [2]).** For  $t = t_1 + t_2 + \dots + t_k > k$ ,

$$P_{t_1, t_2, \dots, t_k}(q) = \frac{(-1)^k q^{T - \binom{k+1}{2}} \left( \sum_{j=0}^k \begin{bmatrix} t \\ j \end{bmatrix} (-1)^j q^{\binom{j+1}{2}} - (q; q)_t \right)}{\begin{bmatrix} t-1 \\ k \end{bmatrix} (1 - q^t)(q; q)_t},$$

where  $T := kt_1 + (k - 1)t_2 + \dots + 2t_{k-1} + t_k$  and

$$\begin{bmatrix} A \\ B \end{bmatrix} := \frac{(q; q)_A}{(q; q)_B (q; q)_{A-B}} \quad \text{for } 0 \leq B \leq A.$$

Later, Breuer and Kronholm [3] studied the number  $\tilde{p}(n, t)$  of partitions of  $n$  with the difference between largest and smallest parts bounded by  $t$  and obtained

$$\sum_{n \geq 1} \tilde{p}(n, t) q^n = \frac{1}{1 - q^t} \left( \frac{1}{(q; q)_t} - 1 \right). \tag{1.2}$$

Chapman [4] gave another proof of (1.2) by using elementary  $q$ -series manipulation, involving no results deeper than the  $q$ -binomial theorem. Overpartitions with bounded differences between largest and smallest parts have also been examined (see [6, 7]). Chern [5] established an interesting identity which includes (1.1) and the results in [6, 7] as special cases.

Chapman [4] asked for an elementary proof of Theorem 1.1 and that is the goal of this paper. To this end, we consider the function  $\tilde{p}(n, t_1, t_2, \dots, t_k)$  counting the number of partitions of  $n$  such that, if  $m$  is the smallest part, then each of  $m + t_1, m + t_1 + t_2, \dots, m + t_1 + t_2 + \dots + t_{k-1}$  appears as a part and the largest part is not greater than  $m + t_1 + t_2 + \dots + t_k$ . We will establish the following formula for the generating function  $\tilde{P}_{t_1, t_2, \dots, t_k}(q)$  of  $\tilde{p}(n, t_1, t_2, \dots, t_k)$ .

**THEOREM 1.2.** For  $t = t_1 + t_2 + \dots + t_k > k$ ,

$$\tilde{P}_{t_1, t_2, \dots, t_k}(q) = \frac{(-1)^{k+1} q^{T_k - \binom{k}{2}} \left( \sum_{j=0}^{k-1} \begin{bmatrix} t \\ j \end{bmatrix} (-1)^j q^{\binom{j+1}{2}} - (q; q)_t \right)}{\begin{bmatrix} t-1 \\ k-1 \end{bmatrix} (1 - q^t)(q; q)_t},$$

where  $T_k := kt_1 + (k - 1)t_2 + \dots + 2t_{k-1} + t_k$ .

### 2. Proof of Theorem 1.2

We first establish the following identity, which is useful for our proofs.

**LEMMA 2.1.** *We have*

$$\sum_{r=k}^{\infty} \frac{q^r}{1 - q^r} \begin{bmatrix} t + r - k \\ t \end{bmatrix} = \frac{(-1)^{k+1} q^{-\binom{k}{2}}}{(q; q)_t (1 - q^t)} \begin{bmatrix} t - 1 \\ k - 1 \end{bmatrix} \left( \sum_{j=0}^{k-1} (-1)^j q^{j(j+1)/2} \begin{bmatrix} t \\ j \end{bmatrix} - (q; q)_t \right). \quad (2.1)$$

**PROOF.** We first observe that we can rewrite the left-hand side of (2.1) in the form

$$\begin{aligned} \sum_{r=k}^{\infty} \frac{q^r}{1 - q^r} \begin{bmatrix} t + r - k \\ t \end{bmatrix} &= \sum_{r=k}^{\infty} \frac{q^r}{1 - q^r} \frac{(q^{t+1}; q)_{r-k}}{(q; q)_{r-k}} \\ &= \frac{1}{(q^{t-k+1}; q)_k} \sum_{r=k}^{\infty} \frac{q^r (q^{t-k+1}; q)_r}{(q; q)_r} (q^{r-k+1}; q)_{k-1}. \end{aligned} \quad (2.2)$$

Define

$$S := \sum_{r=k}^{\infty} \frac{q^r (q^{t-k+1}; q)_r}{(q; q)_r} (q^{r-k+1}; q)_{k-1}.$$

Since  $(q^{r-k+1}; q)_{k-1} = 0$  for  $1 \leq r < k$ , we can take the summation in the definition of  $S$  from  $r = 1$  to  $\infty$ . Applying the identity

$$(-qz; q)_n = \sum_{j=0}^n q^{\binom{n-j}{2}} z^{n-j} \begin{bmatrix} n \\ j \end{bmatrix} \quad (2.3)$$

from [1, Theorem 3.3],

$$\begin{aligned} S &= \sum_{r=1}^{\infty} \frac{q^r (q^{t-k+1}; q)_r}{(q; q)_r} \sum_{j=0}^{k-1} q^{\binom{k-1-j}{2}} (-q^{r-k})^{k-1-j} \begin{bmatrix} k-1 \\ j \end{bmatrix} \\ &= (-1)^{k+1} q^{-\binom{k}{2}} \sum_{j=0}^{k-1} (-1)^j q^{j(j+1)/2} \begin{bmatrix} k-1 \\ j \end{bmatrix} \sum_{r=1}^{\infty} \frac{(q^{t-k+1}; q)_r}{(q; q)_r} (q^{k-j})^r. \end{aligned}$$

By the  $q$ -binomial theorem [1, Theorem 2.1],

$$\begin{aligned} S &= (-1)^{k+1} q^{-\binom{k}{2}} \sum_{j=0}^{k-1} (-1)^j q^{j(j+1)/2} \begin{bmatrix} k-1 \\ j \end{bmatrix} \left( \frac{(q^{t-j+1}; q)_{\infty}}{(q^{k-j}; q)_{\infty}} - 1 \right) \\ &= (-1)^{k+1} q^{-\binom{k}{2}} \sum_{j=0}^{k-1} (-1)^j q^{j(j+1)/2} \begin{bmatrix} k-1 \\ j \end{bmatrix} \left( \frac{(q; q)_{k-j-1}}{(q; q)_{t-j}} - 1 \right). \end{aligned}$$

Applying (2.3) again,

$$\begin{aligned}
 S &= (-1)^{k+1} q^{-\binom{k}{2}} \left( \sum_{j=0}^{k-1} (-1)^j q^{j(j+1)/2} \begin{bmatrix} k-1 \\ j \end{bmatrix} \frac{(q; q)_{k-j-1}}{(q; q)_{t-j}} - (q; q)_{k-1} \right) \\
 &= (-1)^{k+1} q^{-\binom{k}{2}} (q; q)_{k-1} \left( \sum_{j=0}^{k-1} (-1)^j q^{j(j+1)/2} \frac{1}{(q; q)_j (q; q)_{t-j}} - 1 \right).
 \end{aligned}$$

From (2.2),

$$\sum_{r=k}^{\infty} \frac{q^r}{1 - q^r} \begin{bmatrix} t+r-k \\ t \end{bmatrix} = \frac{(-1)^{k+1} q^{-\binom{k}{2}} (q; q)_{k-1}}{(q^{t-k+1}; q)_k} \left( \sum_{j=0}^{k-1} (-1)^j q^{j(j+1)/2} \frac{1}{(q; q)_j (q; q)_{t-j}} - 1 \right),$$

which is easily seen to be equivalent to (2.1). □

We are now in a position to prove Theorem 1.2.

**PROOF OF THEOREM 1.2.** Let  $\tilde{\mathcal{P}}_{t_1, t_2, \dots, t_k, m, r}$  be the set of partitions with the restriction that for each  $\lambda \in \tilde{\mathcal{P}}_{t_1, t_2, \dots, t_k, m, r}$ , there are  $r$  parts in  $\lambda$  with smallest part  $m$ , largest part  $\leq m + t$  and  $m + t_1, m + t_1 + t_2, \dots, m + t_1 + \dots + t_{k-1}$  appear as parts in  $\lambda$ . Then

$$\tilde{P}_{t_1, t_2, \dots, t_k}(q) = \sum_{m=1}^{\infty} \sum_{r \geq k} \sum_{\lambda \in \tilde{\mathcal{P}}_{t_1, t_2, \dots, t_k, m, r}} q^{|\lambda|},$$

where  $|\lambda|$  denotes the sum of the parts in  $\lambda$ . For  $\lambda \in \tilde{\mathcal{P}}_{t_1, t_2, \dots, t_k, m, r}$ , delete the  $k$  parts  $m, m + t_1, \dots, m + t_1 + \dots + t_{k-1}$  and reduce the remaining parts by  $m$ . This gives a partition  $\mu$  with largest part  $\leq t$  and with at most  $r - k$  parts. From [1, Theorem 3.1], the generating function of such partitions is given by the  $q$ -binomial coefficient  $\begin{bmatrix} t+r-k \\ t \end{bmatrix}$ . Hence,

$$\sum_{\lambda \in \tilde{\mathcal{P}}_{t_1, t_2, \dots, t_k, m, r}} q^{|\lambda|} = q^{rm} q^{(k-1)t_1 + (k-2)t_2 + \dots + t_{k-1}} \begin{bmatrix} t+r-k \\ t \end{bmatrix}$$

and

$$\begin{aligned}
 \tilde{P}_{t_1, t_2, \dots, t_k}(q) &= \sum_{m=1}^{\infty} \sum_{r \geq k} q^{rm} q^{(k-1)t_1 + (k-2)t_2 + \dots + t_{k-1}} \begin{bmatrix} t+r-k \\ t \end{bmatrix} \\
 &= q^{T_{k-1}} \sum_{r=k}^{\infty} \frac{q^r}{1 - q^r} \begin{bmatrix} t+r-k \\ t \end{bmatrix}.
 \end{aligned}$$

By Lemma 2.1, we get the desired result. □

To end this paper, we present another proof of Theorem 1.1.

**PROOF OF THEOREM 1.1.** Let  $\mathcal{P}_{t_1, t_2, \dots, t_k, m, r}$  be the partitions in  $\tilde{\mathcal{P}}_{t_1, t_2, \dots, t_k, m, r}$  with the additional condition that the largest part is  $m + t$ . Then it is not hard to see that

$$\sum_{\lambda \in \mathcal{P}_{t_1, t_2, \dots, t_k, m, r}} q^{|\lambda|} = q^{rm} q^{T_k} \begin{bmatrix} t + r - k - 1 \\ t \end{bmatrix}.$$

Hence,

$$P_{t_1, t_2, \dots, t_k}(q) = \sum_{m=1}^{\infty} \sum_{r=k+1}^{\infty} q^{rm} q^{T_k} \begin{bmatrix} t + r - k - 1 \\ t \end{bmatrix} = q^{T_k} \sum_{r=k+1}^{\infty} \frac{q^r}{1 - q^r} \begin{bmatrix} t + r - k - 1 \\ t \end{bmatrix}.$$

By Lemma 2.1,

$$P_{t_1, t_2, \dots, t_k}(q) = \frac{(-1)^k q^{T_k - \binom{k+1}{2}}}{(q; q)_t (1 - q^t) \begin{bmatrix} t - 1 \\ k \end{bmatrix}} \left( \sum_{j=0}^k (-1)^j q^{j(j+1)/2} \begin{bmatrix} t \\ j \end{bmatrix} - (q; q)_t \right).$$

This completes the proof. □

### Acknowledgements

The author would like to thank the referee for helpful suggestions. The author sincerely thanks P. C. Toh and the National Institute of Education, Nanyang Technological University for their support during his stay.

### References

- [1] G. E. Andrews, *The Theory of Partitions* (Addison-Wesley, New York, 1976).
- [2] G. E. Andrews, M. Beck and N. Robbins, ‘Partitions with fixed differences between largest and smallest parts’, *Proc. Amer. Math. Soc.* **143** (2015), 4283–4289.
- [3] F. Breuer and B. Kronholm, ‘A polyhedral model of partitions with bounded differences and a bijective proof of a theorem of Andrews, Beck, and Robbins’, *Res. Number Theory* **2** (2016), Article ID 2, 15 pages.
- [4] R. Chapman, ‘Partitions with bounded differences between largest and smallest parts’, *Australas. J. Combin.* **64** (2016), 376–378.
- [5] S. Chern, ‘A curious identity and its applications to partitions with bounded part differences’, *New Zealand J. Math.* **47** (2017), 23–26.
- [6] S. Chern, ‘An overpartition analogue of partitions with bounded differences between largest and smallest parts’, *Discrete Math.* **340** (2017), 2834–2839.
- [7] S. Chern and A. J. Yee, ‘Overpartitions with bounded part differences’, *European J. Combin.* **70** (2018), 317–324.

**BERNARD L. S. LIN**, School of Science, Jimei University,  
 Xiamen 361021, PR China  
 e-mail: [linlsjmu@163.com](mailto:linlsjmu@163.com)